H & 0l & AHS B Ml A

20289 % 204 =EINEAILSESI A &l
FA SEES
B sADs(22/8AEE A
CHOL LE2tad e (SRINEALSESIH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHES 2,613,906 2,237,610 376,295
Jl 2,593,905
Al 20,000
SIS (F/EBESe 2,572,316 2,194,126 378,190
Jl 2,572,316
e 2el(S=ENLAESESIAH) 2,572,316 2,194,126 378,190
) 2,572,316
SHESd=A =X 554,080 470,881 83,199
Jl 564,080
401 AlZHIZ S OHYI 357,407 308,198 49,209
Il 367,407
01 Al&H| 357,407 308,198 49,209
S FUX A (2HE)
357,407 ,000& 357,407
) 367,407
402 QI+ X201 & 196,673 162,683 33,990
Jl 196,673
02 RIINEASEZ(0IETHR) 196,673 162,683 33,990
OHEY%H ZUXAIL ()
196,673,000 196,673
Jl 196,673
HsdeH FUSEXNE 1,800,000 1,499,825 300,175
Jl 1,800,000
401 AIEHIX SO 1,800,000 1,499,825 300,175
) 1,800,000
01 Al&HI 1,800,000 1,499,825 300,175
OSHEH TEAMY 1,800,000
c2HNWIISE ZESAEAMSY)
1,000,000,000& 1,000,000
) 1,000,000
oS 0te TESAH(2AZTED)
800,000,000& 800,000
Il 800,000
FOIXI2EI & BAIA 38,916 29,849 9,067
Il 38,916
101 21AH| 29,554 28,239 1,315
Jl 29,554
MU IIRIMZZENSES 29,554 28,239 1,315
OFCUXIAAMNE JIZNE ZA
29,554,000 29,554
Jl 29,554
201 er2&| 7,752 0 7,752
Il 7,752
01 AtR2t2lt] 7,752 0 7,752




2A: EES0
B sADs(22/8AEE A
CHOL LE2tad e (SRINEALSESIH) (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ORFIDEZ e 5 7 7,752,000& 7,752
J| 7,752
202 44| 1,610 1,610 0
| 1,610
01 =ZLHOdHI 1,610 1,610 0
OFUX A J|x= L AENZAL
1,610,000& 1,610
| 1,610
a2 XS 2] 140,682 133,611 7,071
| 140,682
101 @124 d| 83,148 77,000 6,148
| 83,148
M IIZIMZ22 NS Es 83,148 77,000 6,148
OM+RES A 2ZAIA 83,148
oZAIE 21|
9,620 *4H 208 Al 2H+9H 72,035
| 72,035
oA 4UHEEZ 72,034,560 *13% 9,365
| 9,365
oZAIE CHME A2t |
437,000& x4H 1,748
| 1,748
201 B2 AY| 57,534 56,611 923
| 57,534
01 AtR2telt] 31,534 27,000 4,534
Oget=2H| 31,534
oQCHHE Y H=F= S A2 WA
10,000,000 10,000
| 10,000
oYtMEH & A28 #¢
9,534,000& 9,634
| 9,634
o ZAIXE AX= 12,000,000& 12,000
J| 12,000
02 324l 26,000 29,611 A3,611
o3223a % MAl 1,000,000& =123 12,000
| 12,000
O] ES 7Y AIZEH| XY 11,000
oQHHE Y HA FH| 5,000,000& 5,000
| 5,000
oZA=E=S Y HHl K2
6,000,000& 6,000
| 6,000
OHIIZ2Heltl 3,000,000 =12 3,000




A SEESH
Y HAYS(HA/EABEA)
ool LS el(SENLALSHEIH) (crol: m2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
| | 3,000
IS 38,638 59,960 A21,322
| 38,638
207 A OHEH| 38,638 59,960 AN21,322
| 38,638
01 ¢ ESH| 38,638 59,960 AN21,322
oY sl OlHEIt
37,126,000 & * 14! 37,126
| 37,126
ogEE el HHEAZE2LIHE
1,512,000 14 1,512
| 1,512
Heas(sdeEs) (ed/832s54de) 41,589 43,484 A1,8%5
| 21,589
Al 20,000
LIEHHKI S (=EINE AL SESIH) 21,589 23,484 A1,8%
| 21,589
LI XI= 21,589 23,484 A1,89%
| 21,589
701 JIEt2l HISEES 21,589 23,484 21,89
| 21,589
2 SILESIHBNNEZ 21,589 23,484 A1,89%5
OHIIZANLE(2Y - 01 ARR2336t
HelAld) 22 21,589,000 21,589
| 21,589
BEXE(EMLALELSIA) 20,000 20,000 0
BEXE(XESTH-B) 20,000 20,000 0
802 Btz J|El 20,000 20,000 0
01 2NEXxFeE3 20,000 20,000 0
oYsZ==HDIS Etet= 20,000,000 20,000




